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1. Wr A8

Where does this conversation most probably take place?

A. At a music store. B. At a flower shop. C. In a restaurant.
2. Wt 71/

How many weeks does the woman have for Christmas?

A. Two. B. Four. C. Six.

3. W /1

How does the woman usually go home after work?

A. By bus. B. By car C. By subway

4. W7 J178

What are the speakers doing?

A. Taking care of a baby. B. Looking at anold photo. CI'Biscussing different hairstyles.
5.0 /1

How much is the typical rent for a two-bedroom flat in Dalton?

A. £850 B. £900. Cn£950.
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6. Wt /178

WrE, [EZHEE.

(6) Whererwill Roger be during the patty?

A. In the office. B. In'the classroom. C. In the hospital.

(7yHow does the woman feel about the party?

A. Sad. B. Anxious? C. Excited.

7. Wt 178

W&, BEZEE.

(8) Where does the conversation most probably take place?

A. Outside a cinema. B. At home. C. In the cinema.

(9) What is the film adapted from?

A. A magazine. B. A book. C. A report.

(10) What does the woman think of the director?

A. He's good at directing a film. B. He's good at improving a story. C. He has no right to
change the story.

8. Wr J1%
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